EARAROBEEIERT — 2 N— IBISH —F

201968260 (k) 8EEM4H

N C2- H5R4mtE

(xwlw | lmEmml - |5 @) o 8

[A~&E£] 1 7% :350,000 W ~ 23&:98,000"  37#&:49,000 W  43&:35,000 8  53&:28,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S e <= K F 8 :31. -9-9- . — AR EE (FE)
(15l 5|7 KAY by F— B4 ins 1(3_1)1 9-9-9-5 |38.6 2 (423; %Efw
L:8—MIRYI BHYZ—FAHF— (B) HA-FL—-ya>aEI7
Sk 4 4 | B 1:31.3 6-6-3-3 | 39.7| — 1 453 | EEFI— (Fk)
olglo|IvE¥—H-—TFT> 56.0 (3/4) 1) |BEAOE
XD THANAN B4 TL—X HEI77—L4
: N 4 4 | HREFR 1:31.6 7-7-5-4 | 39.7| — 6 461 | HEM—E (ER)
317|g|EIRTL 54.0 @) © b TH ()
L./ TN BRI ZAXvOL HET77—L
41gl10) IXRETINRAZR L 7| s [ 2222 [40.9] — | 3 | 4% |UCHE (@08
QiR—IN—F—Ry b BATEYIFR 00| Sy
. a0 | BAKH 1:31.9 8-8-7-8 |40.0| — 9 458 | BE#=Z (ER)
50717 FI-gtEr ¥¢55.0 (1 1/4) o) N=TEd
L:7A7% B:YrauNiLF Bivie]
e = 4t 7 | THEE 1:32.4 5-5-7-7 | 40.8 | — 4 459 | /N (FEl)
6l1l1|Ex32571% 5.0 & Oy | R
L:TANRTyYa BTLI)-XE-7 EEREZ e ]
R N Kfh—E .39 —10-10— . — ErEA (TEH)
; NEEPFLIZE S it 6 i (12312/2% 10-10-10-10| 40.1 8 <4+522) X;ﬁf@f;
LAY amk—5— B:AAva3975F4 3 & HAEAKS
N . AZmER : -1-1- — ERE R5A (EM)
8 NESOPLESS it 4 i 1(/73%:) 1-1-1-1 | 42.2 7 (4_423; i
X:O—-1I>90> BiI-Y ANRYT— ZH &
N oy M2V PN :33. —3-4— . — TE¥z (BM)
9 o | TA 2 TIVINY o4 | LIE (12313/23) 3-3-4-6 | 42.0 5 ig? LB
R/ ovvoTa BiACT XA SeES
N it o4 | AEE 1:33.9 4-4-6-9 | 42.5| — 10 | 452 | REME (FEh)
10 4| 7FA =7 ¥53.0 (3 1/2) (+3) |BBEDE
LA agR—5— B:O 781 [Sligse
® 1—F—@EBIERL
1T=7r= 6,10,2,4,1,9,8,7,5,3
2a=5F= 6,10,2,4,1,9,8,7,5,3
33—7+— |6,10,9,2,8,4,(1,7),5,3
40—+ — 6,10,9,8,5,2,1,7,4,3
[ N5
B 5 480M 714K 5-9 190M e E 5-8 520 JEE 5-8-9 1,690
B B 5 1509 5-8 710 B = 5-9 610M EE 5-9-8 8,020
9 120 8-9 550M B H 5-9 1,510
8 340H

ABICOVWTRDTEEERROODE. TR LIV,




